Date:01/15/08 Time:22:05:46 Page:1 of 5

	TURN OUT				
	Reg. Voters	Cards Cast	% Turnout		
Jurisdiction Wide					
Burr Oak Township, Precinct 1	1938	280	14.45%		
Colon Township, Precinct 1	2226	338	15.18%		
Constantine Township, Precinct 1	1677	213	12.70%		
Constantine Township, Precinct 2	1424	140	9.83%		
Fabius Township, Precinct 1	2561	557	21.75%		
Fawn River Township, Precinct 1	1163	184	15.82%		
Florence Township, Precinct 1	909	153	16.83%		
Flowerfield Township, Precinct 1	1192	193	16.19%		
Leonidas Township, Precinct 1	791	141	17.83%		
Lockport Township, Precinct 1	2111	585	27.71%		
Lockport Township, Precinct 2	760	210	27.63%		
Mendon Township, Precinct 1	2080	328	15.77%		
Mottville Township, Precinct 1	1068	142	13.30%		
Nottawa Township, Precinct 1	2557		16.89%		
Park Township, Precinct 1	2052	369	- 1 15 0 7 0		
Sherman Township, Precinct 1	2411	426	17.67%		
Sturgis Township, Precinct 1	1333	207			
White Pigeon Township, Precinct 1	2578		15.13%		
Sturgis City, Precinct 1	2011	345	17.16%		
Sturgis City, Precinct 2	1413	124	011010		
Sturgis City, Precinct 3	1445				
Sturgis City, Precinct 4	1636				
Three Rivers City, Precinct 1	1214		19.19%		
Three Rivers City, Precinct 2	969				
Three Rivers City, Precinct 3	1590		15.60%		
Three Rivers City, Precinct 4	975	136			
Total	42084	6890	16.37%		

Date:01/15/08 Time:22:05:46 Page:2 of 5

•	Republican President											
	Reg. Voters	Total Votes	Brownback (REP)	x, Sam	Giuliani, R (REP)	udy	Huckabee, (REP)	Mike	Hunter, Do	uncan	McCain, Jo	ohn
	Voters	Votes	(REI)		(REI)		(REI)		(REI)		(KEI)	
Jurisdiction Wide												
Burr Oak Township, Precinct 1	1938	223	0	0.00%	1	0.45%	59	26.46%	0	0.00%	83	37.22%
Colon Township, Precinct 1	2226		0	0.00%	4	1.59%		28.69%		0.00%		37.2276
Constantine Township, Precinct 1	1677	150	0	0.00%	2	1.33%		31.33%		0.00%		37.33%
Constantine Township, Precinct 2	1424	112	0	0.00%	4	3.57%		29.46%		0.00%		25.89%
Fabius Township, Precinct 1	2561	387	0	0.00%	9	2.33%		17.05%		0.52%		45.22%
Fawn River Township, Precinct 1	1163		-	0.00%	3	2.21%		20.59%		0.00%		42.65%
Florence Township, Precinct 1	909		0	0.00%	4	3.28%		34.43%		0.00%		26.23%
Flowerfield Township, Precinct 1	1192		-	0.00%	1	0.67%		25.33%		0.00%		35.33%
Leonidas Township, Precinct 1	791	109	0	0.00%	0	0.00%		22.94%		0.00%		32.11%
Lockport Township, Precinct 1	2111	358	0	0.00%	3	0.84%		20.95%		0.00%		42.74%
Lockport Township, Precinct 2	760		0	0.00%	0	0.00%		14.29%		0.00%		48.12%
Mendon Township, Precinct 1	2080		0	0.00%	2	0.87%		26.64%		0.00%		42.36%
Mottville Township, Precinct 1	1068		0	0.00%	3	2.86%		28.57%		0.00%		32.38%
Nottawa Township, Precinct 1	2557		0	0.00%	7	2.11%		26.51%		0.30%		38.25%
Park Township, Precinct 1	2052		-	0.00%	8	2.96%		20.37%		0.00%		40.74%
Sherman Township, Precinct 1	2411	349	0	0.00%	7	2.01%		28.37%	-	0.57%		36.39%
Sturgis Township, Precinct 1	1333		0	0.00%	1	0.64%		28.03%		0.00%		36.94%
White Pigeon Township, Precinct 1	2578		0	0.00%	5	1.71%		23.55%		0.00%		43.34%
Sturgis City, Precinct 1	2011	262	0	0.00%	4	1.53%		18.32%	0	0.00%		39.31%
Sturgis City, Precinct 2	1413		0	0.00%	5	5.32%		27.66%	0	0.00%		39.36%
Sturgis City, Precinct 3	1445			0.00%	0	0.00%		36.05%		0.00%		27.91%
Sturgis City, Precinct 4	1636		0	0.00%	1	0.49%		27.59%		0.99%		38.92%
Three Rivers City, Precinct 1	1214		0	0.00%	3	1.84%		26.99%	0	0.00%		34.97%
Three Rivers City, Precinct 2	969		0	0.00%	2	3.13%		21.88%	-	0.00%		26.56%
Three Rivers City, Precinct 3	1590			0.00%	3	2.00%		32.00%		0.00%		30.00%
Three Rivers City, Precinct 4	975		0	0.00%	2	2.53%		30.38%		0.00%		36.71%
Total	42084		0	0.00%	84	1.69%		24.98%		0.14%		38.29%

Date:01/15/08 Time:22:05:46 Page:3 of 5

	Republican President									
			Romney, Mitt (REP)		Tancredo, Tom (REP)		Thompson, Fred (REP)		Uncommitted	
Jurisdiction Wide										
Burr Oak Township, Precinct 1	4	1.79%	69	30.94%	0	0.00%	2	0.90%	5	2.24%
Colon Township, Precinct 1	12	4.78%	58	23.11%	0	0.00%	9	3.59%	3	1.20%
Constantine Township, Precinct 1	5	3.33%	25	16.67%	0	0.00%	5	3.33%	9	6.00%
Constantine Township, Precinct 2	4	3.57%	34	30.36%	0	0.00%	6	5.36%	2	1.79%
Fabius Township, Precinct 1	19	4.91%	97	25.06%	0	0.00%	13	3.36%	6	1.55%
Fawn River Township, Precinct 1	7	5.15%	30	22.06%	0	0.00%	8	5.88%	2	1.47%
Florence Township, Precinct 1	4	3.28%	31	25.41%	0	0.00%	6	4.92%	2	1.64%
Flowerfield Township, Precinct 1	9	6.00%	39	26.00%	0	0.00%	9	6.00%	1	0.67%
Leonidas Township, Precinct 1	4	3.67%	38	34.86%	0	0.00%	5	4.59%	2	1.83%
Lockport Township, Precinct 1	19	5.31%	90	25.14%	0	0.00%	12	3.35%	6	1.68%
Lockport Township, Precinct 2	14	10.53%	31	23.31%	0	0.00%	3	2.26%	2	1.50%
Mendon Township, Precinct 1	17	7.42%	40	17.47%	0	0.00%	8	3.49%	3	1.31%
Mottville Township, Precinct 1	6	5.71%	20	19.05%	0	0.00%	9	8.57%	3	2.86%
Nottawa Township, Precinct 1	17	5.12%	74	22.29%	0	0.00%	11	3.31%	7	2.11%
Park Township, Precinct 1	11	4.07%	71	26.30%	0	0.00%	13	4.81%	2	0.74%
Sherman Township, Precinct 1	13	3.72%	89	25.50%	0	0.00%	8	2.29%	4	1.15%
Sturgis Township, Precinct 1	4	2.55%	41	26.11%	0	0.00%	5	3.18%	4	2.55%
White Pigeon Township, Precinct 1	11	3.75%	64	21.84%	0	0.00%	12	4.10%	5	1.71%
Sturgis City, Precinct 1	4	1.53%	93	35.50%	0	0.00%	9	3.44%	1	0.38%
Sturgis City, Precinct 2	2	2.13%	16	17.02%	0	0.00%	5	5.32%	3	3.19%
Sturgis City, Precinct 3	1	1.16%	26	30.23%	0	0.00%	4	4.65%	0	0.00%
Sturgis City, Precinct 4	6	2.96%	47	23.15%	0	0.00%	11	5.42%	1	0.49%
Three Rivers City, Precinct 1	15	9.20%	29	17.79%	0	0.00%	10	6.13%	5	3.07%
Three Rivers City, Precinct 2	6	9.38%	20	31.25%	0	0.00%	1	1.56%	4	6.25%
Three Rivers City, Precinct 3	6	4.00%	35	23.33%	0	0.00%	8	5.33%	5	3.33%
Three Rivers City, Precinct 4	4	5.06%	17	21.52%		1.27%	0	0.00%		2.53%
Total	224	4.51%	1224	24.64%	1	0.02%	192	3.87%	89	1.79%

Date:01/15/08 Time:22:05:46 Page:4 of 5

	Democratic President											
	Reg.   Total   Clinton, Hillary   Dodd, Chris   Gravel, Mike   Kucinich, Dennis   Uncommittee									ted		
	Voters	Votes	(DEM)	iliai y	(DEM)	,	(DEM)	XC.	(DEM)	Demis	Cheomini	ica
	Voters	Votes	(DLM)		(BEN)		(DLIVI)		(DLIVI)			
Jurisdiction Wide									l			
Burr Oak Township, Precinct 1	1938	57	27	47.37%	0	0.00%	1	1.75%	0	0.00%	27	47.37%
Colon Township, Precinct 1	2226	87	50	57.47%	0	0.00%	0	0.00%	1	1.15%	33	37.93%
Constantine Township, Precinct 1	1677	63	36	57.14%	1	1.59%	1	1.59%	0	0.00%	23	36.51%
Constantine Township, Precinct 2	1424	28	20	71.43%	1	3.57%	0	0.00%	1	3.57%	6	21.43%
Fabius Township, Precinct 1	2561	170	94	55.29%	1	0.59%	1	0.59%	5	2.94%	64	37.65%
Fawn River Township, Precinct 1	1163	48	26	54.17%	0	0.00%	0	0.00%	0	0.00%	21	43.75%
Florence Township, Precinct 1	909	31	20	64.52%	0	0.00%	0	0.00%	1	3.23%	10	32.26%
Flowerfield Township, Precinct 1	1192	43	25	58.14%	0	0.00%	0	0.00%	1	2.33%	16	37.21%
Leonidas Township, Precinct 1	791	32	15	46.88%	1	3.13%	0	0.00%	2	6.25%	14	43.75%
Lockport Township, Precinct 1	2111	161	111	68.94%	0	0.00%	1	0.62%	2	1.24%	43	26.71%
Lockport Township, Precinct 2	760	59	35	59.32%	0	0.00%	1	1.69%	1	1.69%	19	32.20%
Mendon Township, Precinct 1	2080	99	61	61.62%	1	1.01%	0	0.00%	4	4.04%	31	31.31%
Mottville Township, Precinct 1	1068	37	22	59.46%	0	0.00%	1	2.70%	2	5.41%	10	27.03%
Nottawa Township, Precinct 1	2557	100	60	60.00%	0	0.00%	1	1.00%	1	1.00%	36	36.00%
Park Township, Precinct 1	2052	99	67	67.68%	0	0.00%	0	0.00%	2	2.02%	28	28.28%
Sherman Township, Precinct 1	2411	77	47	61.04%	1	1.30%	1	1.30%	1	1.30%	25	32.47%
Sturgis Township, Precinct 1	1333	50	28	56.00%	0	0.00%	1	2.00%	2	4.00%	19	38.00%
White Pigeon Township, Precinct 1	2578	97	67	69.07%	1	1.03%	0	0.00%	4	4.12%	24	24.74%
Sturgis City, Precinct 1	2011	83	50	60.24%	0	0.00%	0	0.00%	1	1.20%	32	38.55%
Sturgis City, Precinct 2	1413	30	18	60.00%	1	3.33%	0	0.00%	0	0.00%	11	36.67%
Sturgis City, Precinct 3	1445	44	27	61.36%	3	6.82%	0	0.00%	4	9.09%	10	22.73%
Sturgis City, Precinct 4	1636	54	38	70.37%	0	0.00%	0	0.00%	1	1.85%	15	27.78%
Three Rivers City, Precinct 1	1214	70	36	51.43%	1	1.43%	0	0.00%	5	7.14%	27	38.57%
Three Rivers City, Precinct 2	969	65	43	66.15%	2	3.08%	0	0.00%	1	1.54%	14	21.54%
Three Rivers City, Precinct 3	1590	98	63	64.29%	2	2.04%	0	0.00%	2	2.04%	29	29.59%
Three Rivers City, Precinct 4	975	57	35	61.40%	0	0.00%	0	0.00%	0	0.00%	20	35.09%
Total	42084	1839	1121	60.96%	16	0.87%	9	0.49%	44	2.39%	607	33.01%

Date:01/15/08 Time:22:05:46 Page:5 of 5

			Lockport I	Proposal		
	Reg. Voters	Total Votes	YES		NO	
Jurisdiction Wide						
Burr Oak Township, Precinct 1	_	_	_	_	_	
Colon Township, Precinct 1			_	_	_	]
Constantine Township, Precinct 1			_	_	_	
Constantine Township, Precinct 2	_	_	_	_	_	
Fabius Township, Precinct 1	_	_	_	_	_	_
Fawn River Township, Precinct 1	_	_	_	_	_	_
Florence Township, Precinct 1	_	_	_	_	_	_
Flowerfield Township, Precinct 1	_	_	_	_	_	_
Leonidas Township, Precinct 1	_	_	_	_	_	_
Lockport Township, Precinct 1	2111	580	159	27.41%	421	72.59%
Lockport Township, Precinct 2	760	208	57	27.40%	151	72.60%
Mendon Township, Precinct 1	-	_	-	-	-	-
Mottville Township, Precinct 1	-	_	-	-	-	-
Nottawa Township, Precinct 1	-	-	-	-	-	-
Park Township, Precinct 1	-	_	-	-	-	-
Sherman Township, Precinct 1	-	_	-	-	-	-
Sturgis Township, Precinct 1	-	_	-	-	-	-
White Pigeon Township, Precinct 1	-	-	-	-	-	-
Sturgis City, Precinct 1	-	-	-	-	-	-
Sturgis City, Precinct 2	-	-	-	-	-	-
Sturgis City, Precinct 3	-	-	-	-	-	-
Sturgis City, Precinct 4	-	-	-	-	-	-
Three Rivers City, Precinct 1	-	-	-	-	-	-
Three Rivers City, Precinct 2	-	-	-	-	-	-
Three Rivers City, Precinct 3	-	-	-	-	-	-
Three Rivers City, Precinct 4	-	-		-	-	-
Total	2871	788	216	27.41%	572	72.59%